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Following steps removed:

60184.36111 : Step 1 42300 ns
60184.37500 : Step 2 -42300 ns
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Mdev
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751599 s: Mdev= 0.47556E-14 Tdev= 2064 ps
375800 s: Mdev= 0.25276E-13 Tdev= 5484 ps
187900 s: Mdev= 0.96793E-13 Tdev= 10501 ps
93950 s: Mdev=0.21986E-12 Tdev= 11925 ps
46975 s: Mdev= 0.47067E-12 Tdev= 12765 ps
23487 s: Mdev= 0.82446E-12 Tdev= 11180 ps
11744 s: Mdev= 0.14669E-11 Tdev= 9946 ps
5872 s: Mdev= 0.22796E-11 Tdev= 7728 ps
2936 s: Mdev= 0.34745E-11 Tdev= 5890 ps
1468 s: Mdev= 0.55047E-11 Tdev= 4665 ps
734 s: Mdev= 0.10006E-10 'Il'dev: 4240I ps
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